


f In APQR, PS, QU and RT are medians

$ and G is the centroid and QU = RT =

a-1< @ nd PS = 36. Find the perimeter of
triangle QGR, if ZQSG = 90°.

U APQR #, PS, QU 3iiX RT HIftI®IT 2 30X

AS@WE}Gﬂ_\’QU=RT=22.5$ﬁP8=
1~512.36 21 BrST QGR &1 uRWmy wma FIRW,
E afs ZQSG =90° 2 |
P




In the given figure, O is the center of a
circle, AC is the diameter and Z ABP =
ZCBQ. AAOB is?

€ T Apfa #, O U g BT dE B8, AC
A 2 3 L ABP = / CBQ 2| A AOB

T 27

b

(a) Isoceles A

(b) Right angle A
Aerisosceles right angle A

(d) scalene A




In AMON, Z0 =90°an angle bisector of
Z 0 is drawn from point ‘O’ that meet
the side MN at point P and PQ is
perpendicular on side ON. If MO is 32
cm and ON is 40 cm. then find the
length of PQ?

\. MON #, 0 = 90°, fdg 'O’ & £ O &I &Il

O % Q'“"’KN gafgvrered &=r Sirdr @, S ol MN 9 fdg

Uo P W fiierar @ 3R PQ, ON Hull WR odd
$0=S - yox 2| afy MO = 32 Wt ak ON = 40 ¥ 2
Ty dal PQ I daT$ Ta HRA?

Jx=160 (a) 16.28 cm (b) 15 cm

(c) 18.45 cm v141‘(17..78 cm



el AC
In A ABC, CD 1 AB,‘and O is the

intersection point of BB _and BE. If the

length of the side AC is twice to that of

the length of the side OB and DC = 5

cm, then find the lﬁﬁl"ef the side BD.
O

AABC #, CD L AB, ., CD 3R BE &I

< fig 2| afe o AC &1 T3 W

(a) 10 cm (b) S cm
W S Wef 2.5 cm (d) 20 cm



ABC is an isosceles triangle in which AB
= BC, AD is the angle bisector of Z BAC.
Find the value of B:

ABC Ua gHfgerg e @ f5d AB = BC,
AD, /Z BAC &1 &lvl wHfgareis 2| B &1

{9 SITd BN 7
B
D
)36'Ys® D
/)




In a triangle ABC sides AB = 28 cm, BC =
32 cm and AC = 20 cm. AD is the angle
bisector of Z A onNn BC and AM is the

median of the same side. The distance
between the foot of median and the foot
of angle bisector is

U®% s ABC ® HoIT AB = 28 9i#l, BC =
C 32 @iy aift AC = 20 41 2| AD, £ A &1
DMESE—'G ?S BCHTIHT}“TWW%WAMG@W

'
= ST T
3 3338 e Al
3(a) 1 cm JH) 8/3 ecm

(ﬂ)}c) 7/3 cm (d) 2 cm



C AB and CD are two chords in a circle
with a center O and AD is a diameter.
AB and CD are produced to meet at
point P outside the circle. If £ APD =
25° and Z DAP = 48°, then the measure
of ZCBD + ZACB is

®0 $% dldd U& gd d AB 3fIX CD &I Sffard
e 3k AD Ué &9 2| AB 3R CD &I g

Wot [+ ® aex fig P R Mg @ foaw serar s

21 afe ZAPD = 25° 3R ZDAP = 48° 2,
dl ZCBD + /ACB &I HIY &

(a) 77° (b) 103°
_te) 59° @ (d) 64°




The radii of the concentric circles with
centre O are 26 cm and 16 cm. Chord
D AB of the larger circle is tangent to the
smaller circle at C and AD is a diameter.

LWhat is the length of CD ?

O &% did Wafed qal &1 oA 26 |
AR 16 AW 2| 98 g @I oflar AB BIC g
d C IR W ¥Wl & 3 AD Udb ¥ = |

y dqrs fea 27
38 cm (b) 42 cm

CD= ‘QQ\|+‘RU(C) 35 cm @ (d) 36 cm




AB is a chord of a circle with centre O,
while PAQ is the tangent at A. R is a
point on the minor arc AB. If ZBAQ =
70°, then find the measure of Z ARB.

AB ©% O drd 9d @I ofiaT 8, Wi4fd PAQ, A
R W @1 2| R Y 919 AB IR U6 fdig
g | 9f¢ ~BAQ = 70° ®, Al Z ARB &I HIU

Q @yiio° (b) 125°

(c) 70° (d) 145°




AC is the diameter of a circle dividing
the circle into two semicircle ED is a
chord in one semicircle, such that ED is
parallel to AC. B is a point on the
circumference of the circle in the other
semicircle. Z/ CBE = 75°. What is the
measure (in degrees) of £ CED?
Ud g $I A9 AC &, Sl g1 &l &l gl
7 fqmifsra @<ar @1 ED, U& 3efga # 39
YR U oidl & f& ED, AC & UHHIAN 2 |
B, g 3&gd A g &1 uRfr v Red &
fig & 3k L CBE = 75° 8| £ CED (f$if
H) &1

Wz 15 (b) 37°
(c) 68° (d) 75°




In triangle ABC, A is meet with D and B
is join with E. D divide BC in ratio 2:3
and E divide AC in 3:5. The f{find the
AO:0D and BO:OE.

s ABC ¥ A$l D9 a1 B &l E 9
frerrar Sirar @ D, BC &1 2:3 2T E, AC &l
3:5 ¥ fawrfora &=xar 2, d AO:OD qen

BO:OE SITd &Y |

34
op o
7 Jo =\5=
o
AT 3:2, 16:9 @ (b) 2:3, 9:16
(c) 3:2, 9:16 (d)2:3,16:9 ° 2 D 3
(a) 3:2, 16:9 (b) 2:3, 9:16

(c) 3:2, 9:16 (d) 2:3, 16:9
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If D divides BC in ratio 2:3 and divides
BE in ratio 5:4 then find AE: EC &
AO:0OD?
afy D, BC @l 2:3 @ 3Jurd ¥ 30X BE &I
5:4 & 3Iurad ¥ fawfsra &xar 2, df AE:
S = &F §2EC Y AO:0OD ¥Td HIforg?
W AF 3

lc:_g_ B D 3 S
J Es 378:7, 20:7 @ (b) 8:7, 7:20

(c) 7:8, 20:7 (d) 7:8, 7:20



AF lBD2

In th fi — = —th
n the given figure > = 2'DC - 3 en
findC—E

EA
Rem P d = =~,0.25 &4

FB 2'DC 3 EA

q ST BN |

1 2

= b) =
(2) (b) 3

/(cf? @ (d) NOT



In the given figure O is the center of
the circle. ZROS =44° and RO is the

angle bisector of ZPRQ, then find the

value of /ZRTS.

fer ww fam & O ga &1 B @
ZROS = 44° 301 /PRQ &1 gHfgfadare RO
2 d ZRTS®T 419 87




ABCD is a square. BF is the angle
o g \ 20 bisector of ZABO. OB LEF,OF = 12
cm, OE = 8 cm. find the area of ABCD.
ABCD U# 7 2 BF ZABO @& UHfgHIoI® &

OB LEF,OF =12 cm, OE = 8 cm. ABCD

W T aawa qan? BE & fa.wcr.h—\q ol
A o B

e

(-
|- 2 RNESS

!« -~ # ) : 2.
, &3 3 g ¢ M=
KOH‘L) “(Q’E) = QQL yrﬁe @ (b) 676

(d) 900




In a triangle ABC, AD is perpendicular
on side BC. E is the foot of
perpendicular on side AC from vertex B.
AD and BE intersect at point O. If AC =
BO then find the ZABC.

51 ABC § AD ¥uil BC WX @d 2 E oIl
AC & fig B ¥ STal ¢ @q &1 Ug & AD

3 BE U W} &l fdg O R ufae8s &~d
¢ df¢ AC = BO &, @l ZABC®I HIH oTd

B P
(a) 36 ﬂs @

(c) 60 (d) 90

"y




AD 3AE S

In th fi e = —th
n the given figure cD_5'BE 2 en
find the value of E
OF
AD 3 AE 5 AO
a8 — | i i
CD 5'BE 2 OF
STd N7
21 1
. @ o AT
(c) 1—75- (d) NOT
E D

(o2




In the given figure AP = 6 cm, CP = §
cm,PD=2cm,PE=1cm and PF =3 cm

Fé F..— then_BP=?
H*E*-;'(_f\ fo4 ¥ AP=6cm, CP=5cm, PD = 2 cm,
3 | PE =1cm 3R PF =3 cm g, df BP & 719
3 - daW?

Jafgcm (b) 6cm

(d) NOT




RN AEXBDRCE = RERCOXAE




AB = 15, AC = 20, /BAC =90° find EF,
Lo IF BD

4y,
\ FD 1 BC.

2DC, EF = x, AE |l BC&

=7 (c) 5 (d) NOT



AE = ED, /BAC =_/BEF = /ZADF =90°,

DF = 6. If FC = x, find x.
@61-—-@“)‘“
ﬂ\

W-':. (..3 g ‘L B% e. \ \(.
t;] S




Find value of x in following figure.

CERP IR IGEGIR




